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Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which of the following combinations has
the dimension of electrical resistance (g is
the permittivity of vacuum and p, is the

permeability of vacuum) ?

Options:
Ho
1: 50
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Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
freifera # 9 forg waem =1 fam 921 &, =0,
forea wfer &1 8 (7@, ¢, Fraia = Forggersiieran
(TS T ., T R FrRier €) 2
Options:
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0
z 9

Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
24 sl Beaallad (wBREE) e 2
2 25 Rl WRoAAL (w2, e
izl 541 o] WRel [yd wezied
WYl 6]

Options:
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Question Number : 2 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The trajectory of a projectile near the surface
of the earth s given as y=2x — 92, Ifitwere
launched at an angle By with speed Uy
then (g=10 ms~2) ;

Options:
By =8 {Ilandl’_Sms!
p==8 e 0~ 3
3
1 "}g
1 B s
By = <o —= |and Ty = 7 ms
o '-.\|'5/' 3
By = sin™! { 2 Vg =
g = sin —Ja_n n = - ms
5
= Jg
By = cos ! 2\- d? -3 =
, 0 \I.'IEJdn 5 ms

Question Number : 2 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

fel 99™ & 949-99 &I, 4 = T
y=2x —9x2, ¥ fefaq forn s 21 afe, 50
v, e I 0, 701 9 FHIT= o 7T 2
(g=10ms ™ %):

Options:
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g {1 3
By =cos | —— |TM 7y = —ms 1
o= cor™ (g wn =
2.
| 2 3 |
0 1{—13&1? = —ms"!
s 9 J5 ) 5
| 2 3 1
by = cos — | T = g ms
4. &

Question Number : 2 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

yeelldl 2uigl wr 519 =i uaus-l aldaua
y=2r—9x7 b 2Nl 29 . o oA 6,
S8 vy #ovell olsddl 2y ¢d dl

(g=10ms % :
Options:
i " 5
5 3
1.
5
by = cos™ ! [LJH:I 9= —ms™~ ]
5 \V3 3

z 5
By = cos” ! {iwﬁﬂ“ O = 2 ms |
4 V5) o

Question Number : 3 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A man (mass=50 kg) and his son
(mass =20 kg) are standing on a frictionless
surface facing each other. The man pushes
his son so that he starts moving at a speed
of 0.70 ms~ ' with respect to the man. The
speed of the man with respect to the surface
15 :

Options:

; 0.20 ms 1
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> 0.28 ms 1

5 0.47 ms 1

4 0.14 ms 1

Question Number : 3 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

U Al (FFAA=50 kg) 991 IT=H =2
(F=HA =20 kg), Tt =aioRfean 7= W, =
T F A |E €1 98 SAfa A9 92 H
gFe ¢ faed, 98 39 =Afe F Ay
0.70 ms ~ 1 =1 =1t F T FT oI €1 A, 39
=T F1 T & A" 9 an

Options:

; 0.20ms™!

5 0.28 ms—1
3 0.47 ms

4 0.14 ms 1

Question Number : 3 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

s oyfscl (E0=50 kg) 2 d-l [Eszl
(8n=20 kg) =i wis ardalect swidl uz 2isodlsadl
A Gow 5. 2 =fse d-l (B3l asl Wz 8 5
ordl cell 0.70 ms 1 Al souell =ulsal 2uds
oiled 53 5. 2L el 226y 3l

Options:

; 0.20ms™!

> 0.28 ms 1
5 0.47 ms

4 0.14 ms 1
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Question Number : 4 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A person of mass M is, sitting on a swing
of length L and swinging with an angular
amplitude 8. If the person stands up when
the swing passes through its lowest point,
the work done by him, assuming that his
centre of mass moves by adistance [ (I<<L),
is close to :

Options:

1 Mg

Mgl (1-862)

| giar
Mgl [1 ol 1
\ 2 r

; Mgl (1+8,7)

z.

3

Question Number : 4 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TF e (§FHA = M), L @ 15 & TF Fol |
e T &1 Fel 1 FIVIT AFH 0, T T F
A e fag | Tod 999, 98 SAfa g0
T @ W 2| 4fE WE e § 59 =
Z=9A 5 [(l<<L) 30 ¥ fareenfud 21 < 2,
a1, =t 51 T T3 i 20

Options:

1 Mgl

, Mgl (1-6)

| Biar
Mal (1 Tl 1

A 2 J
3

i Mgl (1+86,%)

Question Number : 4 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 ;
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M getietd] s cleat L donde [Eust ur oidl
6. i sl Suliar 0, Al 24 &, w0 [Eusl
sl deAl A (gl uae Wy R 2u
c[sel ot Goll 2 i ed GOl Al de, g
5eg 1(1<<L) s/2d] iR W dl el g2 ad 514

Al s 3l

Options:
L Mg
5 Mgl (1 —Bﬂ-"-'}

' 2

Mgl {1 | ”LW

1 2 F

=3

i Mgl (1+86,%)

Question Number : 5 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A circular disc of radius b has a hole of
radius a atits centre (see figure). If the mass

r
per unit area of the disc varies as [Tﬂw,
/

then the radius of gyration of the discabout
its axis passing through the centre is :
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Question Number : 5 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

fopet TR ferh #1 b 1 oo v g
THF 8 WA 8, Torae e a €, e i
qfe femF & If-TFHiF-4FFa F1 5994,
[?:I % STEN IfEfid 29 & 9, 396 F= 9
TS ATl A9 6 gia:, fowen i afvgsm e
U

Options:
a+b
1 2
[ = .
\la“ + b+ ab
o 2
a+t+b
3 3

Question Number : 5 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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b - BlseiAl 245 dcjuusiz csdli a-Blsed =is
5100 8 (2ugld sr2il). s 24 clsdlld gemuq wla
w5y EHs0) [ : ] 2l eigad €, dl dscl e

v (it Segiell e adl) -l s Byeiq
(gyration) Bisedt 0.

Question Number : 6 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A uniform rod of length I is being rotated
in a horizontal plane with a constant
angular speed about an axis passing
through one of its ends. If the tension
generated in the rod due to rotation is T(x)
at a distance x from the axis, then which of

the following graphs depicts it most
closely ?

Options:

T(x)

ra
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.
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Question Number : 6 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

H, U e g 9 9 gEE o @ e
-3 TS % T T9 9 [ ¢ | At 5
U o FR, T2 H 3¢9 4, A9 Y FH R
T(x) & o, Fe=ifera | & =9 = o1 o8 waita®
BETR Rt -

Options:
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Question Number : 6 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1 dedel 215 Hui HotlA oL 519 =is soriEl
iz Al wad vidasld 2afEle wudead
s18 oo sl oyl Srgaml 2ud 6. @
2zl x 2icr 42 Wil GEmed deud s4 T(x)
i, ol Al2iAial sl s ad wele dAd 2y
53 517

Options:

T(x)
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Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A shell is fired from a fixed artillery gun
with an initial speed u such that it hits the
target on the ground at a distance R from
it. If t; and t, are the values of the time
taken by it to hit the target in two possible
ways, the product tyt, is:

Options:
1. R/28

s R/4g

Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

1 R/2g

4 R/4g

Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
w5 il =15 s (o)A WE [Ss 2oy u Al
ol slsMl 2 9 5 d qsd Wi 4R R
picl? 2A50UA 5. A ogal Elel dsiA AL HHA
Y sl by 2 L Gl Lt ARUSR
8.

Options:
1. R/28

4 R/48

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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At40°C, abrass wire of 1 mm radius is hung
from the ceiling. A small mass, M is hung
from the free end of the wire. When the
wire is cooled down from 40°C to 20°C it
regains its original length of 0.2 m. The
value of M is close to :

(Coefficient of linear expansion and
Young's modulus of brassare 10 ?/°C and
101 N/m?2, respectively ; g=10 ms %)

Options:
1 9 kg

, 15kg

. 0.9kg

, 05kg

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

40°C T T 1 mm 5= =1 9o #1 0%
T 20 F T T ¢ | a1 F gaa a3 M
EHM & UF 912 e =) slewm ™ E | 54
ARF40°C ¥ 20°C W 21 T & af 92 999
A A SR 02 m BT F @ &1 M
=1 TAF2aq 9 &0

(WTe 1 TEE TEE O q91 F1 W
T A & 10 5 /°C 99 101! N/m2, s
g=10 ms 1]

Options:

1 9 kg

, 15kg

. 0.9kg

, 05kg

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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40°C A @45 1 mm Bsdl gisdl vl
Azl a2l @esieuyl 2 8. s Al M
B el Y5l 951 UR A2l AU 8. sl
clzed 40°C 2l 20°C 51 WISl 204 & c4i2 d
adl Yo detd 0.2 m Wl 52 &, M 4 4y
el s et

(lritn e Yol uRels 2 0L HisEH #i-4s4
107 %/°C 244 10" N/m?, 2l g=10 ms ™~ ?)
Options:

1 9 kg

, 15kg

. 0.9kg

, 05kg

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

When M, gram of ice at —10°C (specific

heat = 0.5 cal g~ 1"C~ 1) is added to M,

gram of water at 50°C, finally no ice is left

and the water is at (°C. The value of latent

heat of ice, incal g lis:

Options:
5M4

1 M2

50

50M,

jh12 5
My

50M, .

L

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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~10°C A9 & M, 9™ =% (fafys=
FHI=0.5 cal g~ 1°C 1) &I, 50°C THA &F
M, I 5 H 2o W, T4 9% frae s @
SR Sl =1 AITHE 0°C &1 9 €, o 9% T
FH1 F A cal g 1§ ¥,

Options:
5My
M,

50

1.

50M,

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

sell2 50°C  WR vée M, A welui —10°C
el M, wm o2 ([aReBla = 0.5 cal
g 1C 1) Gzl wud dl 2idul siger s
2l A2l 244 well 0°C w2 &, dl o5l a1aH

by

et Gl cal g 14l 8.

Options:
5M
M,

50

i

50M,
4 My

¥

No Option Orientation : Vertical

Question Number : 10 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl r
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A sample of an ideal gas is taken through
the cyclic process abca as shown in the
figure. The change in the internal energy
of the gas along the path cais —180]. The
gas absorbs 250 ] of heat along the path ab
and 60 J along the path bc. The work done
by the gas along the path abc is :

IJ et
I/H :
a ~ b

V—

Options:

. 100]

- 120]

5 130]

4 140]

Question Number : 10 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

U Y 1 Fl, f H 299 T SEE 9w
U5 abca H TSIRT ST €1 ca 99 F AW
9 1 ARF S § IRFad —180 J €1 ab
99 T FAfE, 19 250 | ST AT T &
a1 be 99 F S, 79 60 | 51 HA9ad
Fd1 &, T abe F AR, T GR fF=Tn
FH T

|

r

Options:

., 100]

5 120]

5 130]
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4 140]

Question Number : 10 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

2l Batleat 31el s 24Eel AL A3 abea
25l B ' 48 sl e B ca 4= W 2l
AAl 2tidls Glsdui adl “Eeus —180 ] ©.
21 <y, ab 42 YR 250 J Glod 204 & 24 be 42
Y42 60 ] Glod UMM 5. Y™ abe W2 4y 48 ud
514 8.

Options:
, 100]

, 120]
5 130]

4 140]

Question Number : 11 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Two moles of helium gas is mixed with
three moles of hydrogen molecules (taken
to be rigid). What is the molar specific heat
of mixture at constant volume ?
(R=8.3 ]/mol K)

Options:

, 157 ]/mol K

, 174]/mol K

5 19.7 J/ mol K

4 216]/mol K
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Question Number : 11 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Siferam 719 F <1 9 1, gseied & o 9
AUA (S o g2 79 T ) & = e
S 81 TR s s fagw =t qen
fafere w1 #/0 2011 7 (R=8.3 J/mol K)
Options:

, 15.7 ]/ mol K

, 174]/mol K

5 19.7 J/ mol K

4 21.6]/mol K

Question Number : 11 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

ol e dlEHM A A0l A EBgler 20l
(srut £ Azadl =ud ) wel BlEa sz
wid 8, ol MEer we v s Wae [lee
Gl sedl €217 (R=8.3]/mol K)

Options:

, 15.7 ]/ mol K

5 174 ]/mol K

5 19.7 J/ mol K

4 21.6]/mol K

Question Number : 12 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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A progressive wave travelling along the
positive x-direction is represented by
y(x,t)=Asin(kx —wt+d). Its snapshot at
t=0is given in the figure.

-,
"

— > e
B Y
o

4

For this wave, the phase ¢ is:

Options:
1 0

[2
A

w
ra |5

=

Question Number : 12 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
AT y- T H A Tl g8 TR W
1, y(x,t) = Asin(kx — wt + ¢), ¥ Frefag fFn

W | t=0"R i1 e ey =1 = e
A

L II"\._,»"'I IIII"*-./II I

39 T & TAU, e d 1 HE 2
Options:
1 0

[+
S

w
ra |5
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Question Number : 12 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
dq x-(Eaudi ol sz =5 ol a3
y(x,t) = Asin(kx — ot + ¢) o E2UEEHL 214 B,
t=0 ¥l addl soll 2uglaui =uia 5.

.uy
M\ AVEA
III Ill |I II| A |II III
—— Il‘ X
|III III'I |IIII I I'II |I|
II\_J_." II"\_, Fi '.\_ J-IJI
Wl M2 50U 8.
Options:
L
G
o 2
04
3 2
g

Question Number : 13 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A submarine (A) travelling at 18 km/hr is

being chased along the line of its velocity

by another submarine (B) travelling at

27 km/hr. B sends a sonar signal of 500 Hz

to detect A and receives a reflected sound

of frequency v. The value of v is close to :

(Speed of sound in water =1500 ms ~ !
Options:

y S02Hz

o 499 Hz

5 504 Hz
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4 507 Hz

Question Number : 13 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

18 km/hr F =1e1 § TA¥E TH T (A)
=1 ST, I9E A F S 27 km/ hr F
=Tl | Tfyier SEd Tge (B), FE 81 A
%1 @ & fag, B 500 Hz &1 % =@ fgqa
o7l € 1, AN v F WA S 9 g
1 v T HAE W, AT

(9T H =1 1 =T =1500 ms 1)

Options:

, S02Hz

5 499 Hz

= S04Hz

4 507 Hz

Question Number : 13 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

w5 HoHAlA-(A) 24 18 km/seusl Al 53 8.
s/l Ald uuA HWicz oflsy qoHdlA-(B) b o
27 km/ sdls 4b olld 52 9 2 del gL st
s3Hl 2 B, A A 2l B 2 500 Hz
HiAR (e e © 2 v slsadld waldd
(B wimd 8. v o 3o Al
4895 4l

(el el 264=1500 ms 1)

Options:

; SU2Hz

5 499 Hz

5 504 Hz

4 507 Hz

:
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Question Number : 14 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A point dipole ; = p{}ﬁr is kept at the
origin. The potential and electric field due

to this dipole on the y-axis at a distance d
are, respectively : (Take V=0 at infinity)

Option;:
0, ——
i, 4mepd
Al g
o Jil':w_ﬂ,n:lE ' 4':TF“d3
e I
’ 3
o dmeyd
I
P P
, Amegd® " dmegd®

Question Number : 14 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

& g B-"ap = —pyx, 7@ fag W fem
T @, 3| fgya % R, y-o18 Wd g W
fava den faga &= 3 e (FF 60 W
V=0%)

Options:
=5

P

0. ———=
4'.1'5.[)::[3

B 3
de, a2’ 4':1'5{][13

2.
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e
* 3
o dmend
B b
4 4’:1'5,,_].::]2 r 47.":—“::13

Question Number : 14 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

315 (Gigan lyell p = pﬂ; RUEECRTERPC]
5. 2 [gyell 8 28 wr d @i Rl
A [dydsa w45 5.
(2-dd =4 V=04l )

Option;:
0, ——
i, 4mepd
B -
o 4':11:_{],;:1E ' 4':TF“d3
e L
d 3
5 dmeyd
Bl _»
o8 4’:1'5,,_].::]2 r 47.'5“::13

Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Shown in the figure is a shell made of a
conductor. [t has inner radius a and outer
radius b, and carries charge Q. Atitscentre

—

is a dipole P as shown. In this case:

7w
Y

9%

Options:

2.

surface charge density on the inner
surface of the shell is zero everywhere

surface charge density on the outer

o

surface depends on

surface charge density on the inner
surface is uniform and equal to

(Q/2)

9
dqra“

electric field outside the shell is the
same as that of a point charge at the
centre of the shell

Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T2l AANE H UF GeE-F (9e) F S
T B | TS SN o arel B HE: a
T b THHYRQ AT 2| THE Hg W

ww T p ¥ (sivm 2w | 7@ feafi

Options:

1.

S F AdiF T T oA
o4 B
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, T s 2

S A I8 T YS- A= T,
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d1ra

F A R

a4m

=91 F =X f9ea 95 %1 7F F&8 2,
S, 396 F= W o Tl fag ameEm

) & H B E

Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Two identical parallel plate capacitors, of
capacitance C each, have plates of area A,
separated by a distance d. The space
between the plates of the two capacitors, is
filled with three dielectrics, of equal
thickness and dielectric constants I(t, K2
and K. The first capacitor is filled as shown
in fig. I, and the second one is filled as

shown in fig II.

If these two modified capacitors are
charged by the same potential V, the ratio
of the energy stored in the two, would be
(E; refers to capacitor (I) and E, to
capacitor (II)) :
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, B 9K, K, K5
: 1 K K5K;
5 Er  (Ki+Kao+ K3 KaKa+KaKy+KKa)
.EJ_{K]+K1+K;}{K3K3+K1K;+K]K1}
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To verify Ohm'’s law, a student connects the
voltmeter across the battery as, shown in
the figure, The measured voltage is plotted
as a function of the current, and the
following graph is obtained :

8 x_'
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A A A A
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15 V--x
e
H""\-H
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7

I— 1000 mA

I[f V is almost zero, identify the correct
statement :

Options:

i The value of the resistance R is 1.5 [}

The emf of the battery is 1.5 V and its
5 internal resistance is 1.5 ()

The potential difference across the
battery is 1.5 V when it sends a
- current of 1000 mA

The emf of the battery is 1.5 V and
the value of Ris 1.5 1}
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The resistive network shown below is
connected to a D.C. source of 16 V. The

power consumed by the network is4 Watt.
The value of R is :
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A thin ring of 10 cm radius carries a
uniformly distributed charge. The ring
rotates at a constant angular speed of
40 mrrad s ! about its axis, perpendicular
toits plane. If the magnetic field atits centre
is 3.8 1079 T, then the charge carried by
the ring is close to (p,=4m x10~7 N/A?),

Options:
; 4x107°C
2x10-6C

7x1078C

4 3%107°C
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A galvanometer of resistance 100 £} has
50 divisions on its scale and has sensitivity
of 20 pA/division. It is to be converted to
a voltmeter with three ranges, of 0-2V,
0-10 Vand 0-20 V. The appropriate circuit
to doso is:

Options:

G g R 1{ R, = 1900 0
r 1T ZT 3—1 R, = 9900 £}

2V 10V 20V Ry=199000

G—-[-{ AT Ry =19900 {1
r 1—‘— E—I— ‘1 R4 =9900 0

20V 10V 2y Ry=1900{

'Z
GH Ry =1900 0
r T —‘— —‘ Ry = 8000 {1

sV 10V 20V Rs=100000
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A magnetic compass needle oscillates 30
times per minute at a place where the dip
is 45°, and 40 times per minute where the
dip is 30°. If B; and B, are respectively the
total magnetic field due to the earth at the
two places, then the ratio B,/B, is best
given by :

Options:
; 07

5 18

z 22

4 3.6
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o C

The figure shows a square loop L of side
5 cm which is connected to a network of
resistances. The whole setup is moving
towards right with a constant speed of
1cms L At some instant, apartof Lisin
a uniform magnetic field of 1 T,
perpendicular to the plane of the loop. If
the resistance of L is 1.7 {1, the current in
the loop at that instant will be close to :

v=1cm/sec
—

O
T

20 L J\
o 6ole o 1n 28
[:§oRcifoRo *% “""”‘95-
oNoc]foNo) 1 ﬂ "zn
oy oy D
K [J LW ﬁl
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) 60 wA
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An electromagnetic wave is represented by
the electric field

E= Egnsin [wf +(6y —8z)]. Taking unit

AN

vectors in x, iy and z directions tobe ;, f,

;f the direction of propogation 5 , is:

Options:
i "Ir .
8 1 — 47

1 D
« o 2
G { 374 41{]

_ 5
z.
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A concave mirror has radius of curvature
of 40 cm. It is at the bottom of a glass that
has water filled up to 5 cm (see figure). Ifa
small particle is floating on the surface of
water, its image as seen, from directly above
the glass, is at a distance d from the surface
of water. The value of d is close to :

(Refractive index of water =1.33)
particle

oz |

““““““ 5cm

Options:
1 1.7 cm

5 8.8cm

2 6.7 cm

4 134 cm
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z 6.7 cm

4 134 cm
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In a double slit experiment, when a thin
film of thickness t having refractive index
W is introduced in front of one of the slits,
the maximum at the centre of the fringe
pattern shifts by one fringe width. The
value of tis (A is the wavelength of the light
used) :

Options:

Y

g 2An—T)

2A
o (n-1)

A
5 (k-1)

R
g (21
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The value of numerical aperature of the
objective lens of a nﬁcrnscc;pe is 1.25. If
light of wavelength 5000 A is used, the
minimum separation between two points,
to be seen as distinct, will be :

Options:

; 048 pm

5 0.12 pm

0.38 pm
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i 0.24 pm
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The stopping potential Ve (in volt) as a
function of frequency (v) for a sodium
emitter, is shown in the figure. The work
function of sodium, from the data plotted
in the figure, will be :
(Given : Planck’s constant
(h)=6.63 x10 ~* Js, electron
charge e =1.6 X 10 o

3.0
J 2.0 B

#
0
1.0 -

i

7
p

2 4 6 & 10
v (10 Hz)

—

Options:
, LebeV

5 1.82eV
2 1.95eV

4 212eV

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Tel 0 H, T Hifeas- S & fod, e
(v) F FeH & ¥4 H, UL fTa v, (3
H) &% gftads #1390 T ¥ TH OWE J
ifeay 1 F14 - 9T 207 ;

(=i feri (h) = 6.63 <10~ * Js Teia2A
e e=16x10"19C)

3.0 -
s
J 2.0 e
o K
1.0 2
2 4 6 8 10
v (10™ Hz)
—
Options:
, 1.66eV
> 1.82eV
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5 1.95eV

4 2126V

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

oig wldy 2vlz we gl (v) L Eay di
2l 2 (e V) (dleedl) 2ugldal sidg
5. gl sla wilédl vzell, wlsund sedlzan
il
(alisll 21205 (h) = 6.63 x 10~ 3]s, dellq-l
[QAeyoz e=1.6%10"19C 24 8.)
3.0
Jizn X“/
o 10 P

2 4 6 8 10
v (101 Hz)

—
Options:
; 1.66 eV

5 1.82eV
3 1.95¢eV

. 212eV

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

An excited He ™ ion emits two photons in
succession, with wavelengths 108.5 nm and
30.4 nm, in making a transition to ground
state. The gquantum number n,
corres ponding to its initial excited state is
(for photon of wavelength A, energy

1240 eV )
A(in nm)

E—

Options:
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Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

TF Iuiferd He * T8, 391 FATH Fall 1=
H HeHET 2 T 21 AT T2, fad e
1085 nm @1 30.4 nm ¥, Scafad L g
YR Infad 98 & H7d F6=H & n
2 (AW F fad wizf[a =1 oo
140V

Alin nm ) '

Options:

1 n=>%

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

w5 Grlvd Het 2 dziaaml Hsild
£33 50315 108.5 nm 244 30.4 nm d@21deds L
o] 51l Grtepd 53 8. WG Grilsva 2iep-2u
wUA3Y sz ¥5 n el

TR | AR r 12—1-[} '.‘1"».-:
(N ddodensl $el Glsd = ———
A(In nm)

Options:

1 n=>7
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Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

The truth table for the circuit given in the

fig.is:
B
Options:
|A B
g @
0 1
1 0
1 k]
A B
0 0
g 1
1 0
2. b
A B
0 0
i
1 0
1 1
=
A B
0 0
0 1
1 0
4 1 1

A—L

0
0

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Tt T ufiay % ford goga 9no B

A |

B — e

Options:

--""\.‘

p—Y
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0
0

0
0

0

0

0
0

0
0

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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wud w2 wed-2:zel (truth table)

-

A |

Br——————

Options:
|A
0
0

1

1

S
"y

——
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A B Y
0 0 0
0 1 0
F 4 A
o I 1 1
A B Y
0 0 1
0 1 0
1 0 0
1 1 0
3.
A B Y
0 0 1
. <l
1 0 1
4 : 1 1

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The transfer characteristic curve of a
transistor, having input and output
resistance 100 {1 and 100 k{1 respectively,
is shown in the figure. The Voltage and
Power gain, are respectively :

&

(400, 20)
I “

(300, 15)
|
(ma) (200, 10)
1 /@I—,
(100, 5)
Ip (RA) —>
Options:

1 5x10% 5x106

> 5x10%, 2.5 %100
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3 5X 108, 5x10°

g 2B W 104, 2.5x 100

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Tt Zife=x &, fraw an e wioas e
100 QA 100k Q F | 5T ford sHarm sifuera
% T2 =9 WA £ I, Sieedl a91 v
e & A

4

A —
\\H.
o
o8
=
i
(]
R

(mA) | ,

Options:

1 5x 104 99 5x 100

5 BN 104 991 25 x10°

= 5% 104 94 5x 10°

4 2.5 x 10* 941 2.5x 10°
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453 100 Q 244 100kQ Sye 24 2uB2y2
LRI R 1L 2 Zlreadl 2R drBisdl
L5l AAEA &, eliegsy 24 YR I 2qsH

B,
5 .'/
(400, 20)
T (300, 15)
If e
() (200, 10)
(100, 5)
Ip (pA) —>
Options:

i 5% 104 244 5% 108

5 5x10% 244 25x 10°
5 5% 10% 244 5% 10°

25 x10% 244 2.5 x 106

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

Chermistry

416529326
2

Online
Mandatory
30

30

120

Yes

No

1
416529466
Yes

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Which of the following statements is not
true about RNA ?

Options:

) Itis present in the nucleus of the cell

[thas always double stranded a-helix
5 structure

5 It controls the synthesis of protein

4 Itusually does not replicate

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
RNA ¥ fou f= & § & &0 =1 9 T

7
Options:
qg FHI9H & AM9E (Ffaeadq) |
| ST T g
muﬁamu—mw
o Tl e

. IE UTEA & ey 1 FHaf=m st g |
, T® AFER F Hfoewm T w2

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
RNA e 2l [Sauql U8l 5y sy )

Options:
| BLSlAl Hfseri g .

oref dH2ll [gulld a-ddlsd varel ¢
> B

. d WAL 2rayeA FEBEA 53 5.
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Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

The increasing order of the PKb of the
following compound is :

(A) | ;‘“Nﬁ“*\q’ﬂ» ;

I I
H H

CH,O_ -~ .
3 - 5 L =2
(B) | ,;:J apr.,f' L\;,r]f |=;,,:f
H H
(C) Hf}’fjw”\ T ”“‘|‘mf5:
H H
HyC T
- l_|___kh__5§. o "*~r~;-"’“l‘“~ ol
Ill l|1
Options:

. (&)< (©< (D)< (@)
, (B)<(D)<(Q)<(4)
. (B)<(D)<(4)<(C)

. ©<@®)<D<E)

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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11 ATt & pK,, 1 9 F9 ¢

F‘H"' = P

P ew

(A) <ﬂ’;”“‘m N lﬂ"'[\.’ P MO
H O H

CH,0O S e
T s
{B} *-H,::::-’-j"' 'x\r‘lq- =3 ,}qu e
H H
GEN . "“_\-\ - S or. _\-\-HH\::-‘-\"'\.\_\_\-\-\.\_
(C} P :TJ"'J I\J\lr'"ﬂ”h'x"fﬂl
H H
HyC -~ -
D) . x..pld_) N
H H
Options:

L M<©<[D<®)
, (B)<(D)<(C)< (A)
5 (B)<(D)<(4)<(Q)

L ©O<@)<D<®)

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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8 2ol AL pK;, ML 2zl 57

H H
Cl IEO_hh_W”TE} g P
(B) e ‘H N 2 \\N,ﬂ-ﬂagff
| I
H H
DEN H"'\-\_-'-’J! S P-J’%
C - -~ T JJ - =
© P L“'r?r" &
H H
HyC o~ & Ry
(D} :h"'m.'.','i::::}"'x .TI-J L“-TTI --“f"h““m:.'af:;:
H H
Options:

. (&)< (©< (D)< (@)
» (B)<(D)<(Q)< (4)
. (B)<(D)<(4)<(Q)

, ©O<@)<D)<®)

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major productof the following reaction

15 ;
e
HO r,f (1) CrO;
oS (2)SOCL/A
(3) A
Options:
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- 4
.ep_-'.f-"’fh"“w;
; HO = e
l::'-'-:‘.—_~:<-""{-/-L-\.L s
\\.
2 HO™ g
Qe
T fa|f
5 Cl
’fﬂ\\\f-_ﬁD
== H“”f
™~
4. C

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

foret exfuferan =1 g 3e0E 2

O“‘m (1) CrO,

HO

H (2) SOCL,/ A ]
(3) A

HO -

Options:

:
gcollegedunlas
India’s largest Student Review Platform



Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AlekeAl 2l ulruedl 3y sy 59 7

'_.-""-' e T

HD F:_,:r-fa-“ah {1) CI":.T:F3 .
(2) SOCL,/A

HO™™
(3) A
Options:
et *')r
, HOT e
{]-::-_:{/f .H"\
N
, HO™ S~
Quc’ ™
- T‘ﬁt__f"f
5 Cl
""fﬁ\\fzﬁD
= “‘“&f 3
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Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Glucose and Galactose are having identical
configuration in all the positions except
position.
Options:

€2

2 €3

= C—4

4 C-5

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T A9 TR & fa=ara fe F aAfafem
Tt T T UF 9 €

Options:

1, €2

2 €3

= C—4

4 €5

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

9545108 i A2 lotell HzuAL 245 22U SIE 530l
ol 22 Gz 245 vl sdsll WO S 2L 2=
2UEL?

Options:

, C-2

2 €3
C—-4
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4 €5

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The major product of the following
addition reaction is

H:C— CH= CH, — 210 ,

Options:
CH;—CH—CH,
i I I
1 Cl  OH

I I
o OH (I
A0

H.C—~&
3. 3' Tl

O

N

H,C CH,

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

H.C — CH= CHj — =210 ,

Options:
CH;—CH-CH,
o I
1 Cl  OH

I I
o OH Cl
e,

H.C—<
3. 3' el

O

IS

H,C CH,
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Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
pid dierlld wedl Yoo Alyse 2L

HsC — CH = CH, — /80 ,
Options:
CH,—CH—CH,
S
e Cl  OH

H,C—CH—CH,
]
> OH ClI

H.C 79
g 9

O

N

, HC cH;

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The major products of the following
reaction are :

OH
@) cey/aq. Naon

P

e J (2) HCHO, NaOH (conc.)
(3) H;O~

_COOH

and Methanol

R and Formic acid

:
Qcollegedunlag
India’s largest Student Review Platform



\:: JJ and Methanol

H\[ and Formic acid

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ey sAfufer F 7= SR ¥

OH
L (1) cre,/aq. NeOH

P w "

Lew, | (2) HCHO, NaOH (conc.)

i

L (3)H,0*

Options:
OH
| coon

o

s
‘“w‘/| a9 G

Cl
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OH
S
“*-Q.[ - TN FITHF UHE

OH

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
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Aledel ulsueAl 3o Aluer 2l 7

OH
L @) cney (wvdin) NaoH
@7/| (2) HCHO, NaOH (ig)
3) H,0~

a O

Options:
OH

r _J).__COOH

c:;;TJ 2 [BE-l
1. Cl

i s1Bs wAfRs
2.
OH
| coon
CT
'*ﬁ,ﬁ wi [H2H1A
. OH
OH

ﬂ, i
i s wi sUfs =0

4 OH _
: collegedunias



Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Which of the following is a thermosetting,

polymer ?

Options:
1 PVC

5 Bakelite

= Nylon 6

i Buna-N

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

=1 5 3 % W q9eE GgeE © 7

Pl “

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

AliAriEdl sl 2oL vgas 97

Options:

el
- cBge

= Al4HlA 6

YAl-N
4. K
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Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

But-2-ene on reaction with alkaline Kl*uh@_i
at elevated temperature followed by
acidification will give :
Options:

CIT3—C"II—{|ZI'I—C['{3

I
1 OH OH
2 molecules of CH,CHO

one molecule of CH3C HO and one
molecule of CH,COOH

2 molecules of CHHCDDH

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
J2-2-%1 & &HF KMnO, & @9 Afufmn
FA qeIvETd 39 M W STl e 9 9T

BT
Options:

CH, ~CH~CH - CH,
: OH OH

, CHyCHO % 31 1]

CH,CHO 1 T& &1 741 CH,COOH
, T A

, CHCOOH % 21 #11]

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

6242 -2-Getell 254 KMnO, AL Gl e
s 4l eue #issen sl wadl sy
Options:
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CH, —CH—CH—CH,
|
OH OH

, CHCHO L 4 »igji

CH,CHO i @45 248} 1 CH,COOH
5 il @i g

, CH;COOH - of 2413

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The major product(s) obtained in the
following reaction is/ are :

/7 \_ (i) KO'Bu

k\- / >
g, () Oy/MesS

Options:

" o _—CHO and OHC-CHO
1 OHC-— ™~

OHC~

2 ~~""~.CHO

. OHC-__~CHO

O'Bu

(}HC .-\""\-\.___h

4 e i =SOHO

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

freferfaa sfafma 3 W 9= 3 2/%
/SN ) KO'Bu

g, (i) O3/ MesS

Options:

o~ CTHO and OHC-CHO
1 OHC-— ™
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OHC-

2 ~~"~CHO

, OHC~__CHO

O'Bu

OHC~ _ -~ _-~_cHo

4.

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Al el ubieAl o (Fruse(sd) 2lAL?
(f _\3 (i) KOBu
LS Vi ’
\_\Br (i) O4/Me,S

Options:

.~ _~CHOand OHC-CHO
| OHC—

OHC-

. e 2
5 ~"~"~.CHO

, OHC~__~CHO

O'Bu

4. OHC~ _~_ "~ cHO

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

An organic compound ‘A’ is oxidized with
Na,O, followed by boiling with HNO,.
The resultant solution is then treated with
ammonium molybdate to yield a yellow
precipitate.

Based on above observation, the element
present in the given compound is :

Options:
1 Sulphur

5 Nitrogen
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= Fluorine

% Phosphorus

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

UF FEE AH CA° H Na,O, F 919
SAFAFA a1 S 2, ae9var 36 HNO,
Wy TN S &1 R aftonet faeaa
HHIFA Hiell=se & W19 iy fama o &
i el a9 2 2

SHIIERT Fe o SR W AT H S9ied 9
T

Options:

4 TFPRRH

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

25 51AlHs el A7 A Na,0, 46 2Ai5d(3e1
sl o1E HNO, <l 248 Goionsisl 208 8, “acl
kewel gleed 2eiHuy wilbeds W b
saell Ylow L 2eE v 8. Gr-l st
Yol wude dllarAul 2ed ded

Options:

| HUESR

5 Algeler
. i3l
4 Sl
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Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

The group number, number of valence
electrons, and valency of an element with
atomic number 15, respectively, are :

Options:
1 15,6and 2

5 16,6 and 3
z 15,5and 3

4 16,5and 2

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

form e =it TXHI] W 15 € S9! g9 T,
3G GATAHRA Solaeil i HEA a9 SHEH
Horaehal FH9: 2

Options:

, 15,6 A= 2

5 16, 6 9491 3

5 15,573

4 16,5 @12

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

s ool s/l 2EAHIS 15 O -l U sHls
Hallorsell YAl vl i Alsrsdl viqsH
Options:

, 15,622

” 16, 6 2id 3

5 15,5 244 3
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4 16,5312

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The idea of froth floatation method came
from a person X and this method is related
to the process Y of ores. X and Y,
respectively, are :

Options:

1 washer man and reduction

5 washer woman and concentration

5 fisher woman and concentration

4 [isher man and reduction

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

gr g fafy & foa faar o =afF@ X 9
AT 1 T T2l o720 o W Y ° gy
T X TY FE: €

Options:
] = 991 S TTEEA

, e T AT
. T A 991 "l

4 HSHMA 941 A9991

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

glerasd yeadl AL [ #is s Xl 2udal
2 2L Yol Y L sl s, (2ips) deddld
Sl 2l X 2 Y s

Options:

; wls dlefl 24 Ragmid
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” w5 el 2 Higdl

. wis HisglHE =l 2 1igdl

4 ABBR 2 Rosei

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The metal that gives hydrogen gas upon
treatment with both acid as well as base
is:

Options:

1 magnesium

o 1ron

4 MEercury

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

o8 H1q S S UA 91 o & o WY HA9F
F1 W AGES < &, B

Options:

| HrifeEm

5, ML

z 9%

4 AT

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
w5 L 5 o7 WIS 9o ool 2B WL s
SIEGlar iy 2N 5.

Options:
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=

A
5 B

4 WRL

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The correct sequence of thermal stability of
the following carbonates is :

Options:

, MgCO, < CaCO, < S1CO, < BaCO,

, MgCO, < S1CO, < CaCO, < BaCO,

. BaCO; < CaCO;, < S1CO; < MgCO,4

, BaCO, <SrCO; < CaCO; < MgCO,

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
=1 FrEE F a1 WE #E

Options:

, MgCO; < CaCO; < S1CO;, < BaCO,

, MgCO, < S1CO, < CaCO, < BaCO,

, BaCO; < CaCO; <SrCO; < MgCO,

, BaCO; <SrC0;, <CaCO, < MgCO,

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Alzie siedizuAl Gl R2AdAL H=l 54

Options:

:
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MgCO, < CaCO; < SrCO, < BaCO,
MgCO, < SrCO, < CaCO, < BaCO,
BaCO; < CaCO; < SrCO; < MgCO,

, BaC0, <SrCO; < CaCO; < MgCO,

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The correct statement among the following
is !

Options:
(SiH,),N is pyramidal and more basic
than (CH,),N.

(SiH;);N is pyramidal and less basic
than (CH;),N.

(SiH;)sIN is planar and more basic
than (CH;);N.

(SiH,),N is planar and less basic than
(CH,);N.

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
freferfea & 3 98 #2797
Options:
(SiH,),N frfa=i =1 (CH,),N ¥
L A &

(SiH,),N frfael & =1 (CH,),N ¥
> FHARAE

(SiH,);N THael & @41 (CHy),N &
o AR HRE #

(GiH.),N HHae & 74T (CH,),N ¥ &4
4 WAE chllegeduniag



Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Uy (e wie s

Options:

(SiH,),N =i faeleat & 2 (CH,),N
sl 4f AAls 8.

(SiH,);N 24 [zedlsd & 24 (CH,),N
sl 2l ollis .

(SiH;);N 2 el 8 2 (CH;).N
sul ag Al 8,

(SiH;);N =1 duddld & wd (CH;)3N
sudl 241 Gl .

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The basic structural unit of feldspar,
zeoliles, mica, and asbestos is :

Options:

, SiO,

R

—E%i —035 (R=Me)
> R

5 (80,7

, (Si0)*

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
heemR, faeense, AsH a9 vEEE
el T THE B

Options:

, SiO,

:
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R

—EE:‘:i—DJ,rﬁ (R=Me)
z R

5 (S0’

5 (GO

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
SR, sllaige, MISsL 2 2Roi21a AL L
ofepzelly 245y 5417

Options:

, SiO,

R

—EE:‘:i—DJ,rﬁ (R=Me)
z R

5 (S0’

, (80,

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

An example of a disproportionation
reaction is :

Options:

2MnOZ+101 +16 HY - 2Mn?t+
5154 81,0

2 KMnO, — K,MnO, + MnO, + 0,

2 CuBr — CuBr2 +Cu

2 NaBr +C£2ﬁ‘~ 2 NaCl+ Br?_

Question Number : 47 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Singl I plion .
No Option Orientation : Vertical  EORCREE T



Correct Marks: 4 WrongMarks: 1
T A AT = SeE
Options:

2MnO;+10 1" +16 HY — 2 Mn2t+

515+ 81,0
2 KMnO, — K,MnO, + MnO, + O,
2 CuBr — CuBr, +Cu

2 NaBr +C12~,~ 2 NaC.I-IrBr?_

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
[erua{lsnel b ezl

Options:
2MnO;+101" +16 HY — 2Mn?t+

5154 81,0
2 KMnO, — K,MnO, + MnO, + O,
2 CuBr — CuBr, +Cu

2 NaPBr +C12—:~ 2 I“»Iaf_".i-|~15!-r2

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The complex ion that will lose its crystal
field stabilization energy upon oxidation of
its metal to + 3 state is:

(Phen = ’\ 3 J}—{_ () ;}
and
ignore pairing energy)
Options:

. [Co(phen);]**

:
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, [Ni(phen),]2*

. [Fe(phen),]>"

" [Zn(phen),]**

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

a8 W AEA Al A U1 B+ 3 FFEH
I FH W A R e T
S @l o &, 2

i
; e h
-

/ L) VA
(Phen=( O —~ O
N N—/
GEN
Jowe FHall B BISG)
Options:
. [Colphen);]**

, [Ni(phen),]2*

i [Fe{phenh]z y

" [Zn(phen),]**

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Halel wiunt 5 o7 dedl g wUEHuA gL +3
Eldui d4d srcl d-l 2sles g Badlsel ulsa
L 85 o 2WEL?

e Glodd 2440180)
Options:

. [Co(phen);]**

:
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. [Ni(phen),]2*

5 [Fe(phen);]*”

" [Zn(phen),]**

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Complete removal of both the axial ligands
(along the z-axis) from an octahedral
complex leads to which of the following

splitting patterns ? (relative orbital energies
not on scale).

Options:
k T, d_xz—[},rz
B dz.f!
E
—— d,., dy,
1 XZr YL
+ L dzz
—— dyp_ 2
E z y
o™ d.er dyz
2, dxy
Y
—— dp
d?ﬂ
K Y
- dz!
] d ,-'d
= XZ :l_g"Z
, dxz_yz
— dp
E
— dyzf dxz
4, Ly

No Option Orientation : Vertical

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl [
% collegedunias
Corrmt Marks: 4 Wrong Marks: 1 & India’s largest Student Review Platform



AR AF T (-3 & 919 SFT 33407
e % ol =9 4 g2 4 g faueq T4 |
qftad g & 2

Options:
k T, d_xz—[},rz
i dz.f!
E
—— dyo, Ay
1 AL Yz
e dzz
—— dp_,2
E 5 y
o d.l'.zf dyz
2 dxy
Y
— dp2_p2
d?ﬂ
K Y
R dz:!
—— 4 ,-d
= XZ :l_g"Z
+ dxz_yz
—  dp
E
— dy;:f dxz
4. dxy

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

wis 2pesasly dsleil del v 2l dbu-s
(z— 18 Wrerlt) A 52 scll el [Flousy=edl stz
el 43512 ARl 2UAl? (deilaa sl Gled
Yrygsul )

Options:

:
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[ e dxﬁ—[jrz
—— dy2
E
1 — dIZ" dy:
"y L dzz
—— dp_ 2
E Y
A d.l'.z" dyz
= dxy
Y
—— dgggp
d?ﬂ
E Y
- dzz
———— d ,-'d
2 XZ :l_d"Z
4 dxz_yz
—dp
E
— dyzr dyz
4, dxy

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct set of species responsible for the
photochemical smog is :
Options:

i N5, O,, O; and hydrocarbons

5 Nz, NEI'2 and hydrocarbons

3 NO, NO,, O, and hydrocarbons

J CDE, NDE, SDE and hydrocarbons

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl

No Option Orientation : Vertical Qcollegeduniag
COI‘I'ECt M arks: 4 Wrong M arks 1 India’s largest Student Review Platform



YeRT91 THEEE JHFel & o el S
Options:

N,, O,, O, Tl FESHREA

1.

5 Na, NO, 741 EEZTHET

, NO,NO,, O, 741 FEZHrET

., €02, NO,, SO, 71 BTEZIHT=

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Ustzl A YH-grud W2 ordeig R |l
lelliAl Y -
Options:

Ny Oy, 05 21 8glisiei

5 N NO, 21 ¢8glsiei

. NO,NO,, O, 211 €8sl

, €0, NO, SO, vl G550

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

5 moles of AB, weigh 125 x 10 "3 kg and
10 moles of A,B, weigh 300 x10 J kg.
The molar mass of A (M 4) and molar mass
of B (M) in kg mol Lare :

Options:

, My=5x10"% and My=10x10"3

, My=10x10"*and My=5x10""

3 M,=25x10""and Mg=50x10""

4 My=50x10""and My=25x10""

:
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Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AB, % 5 Hiel o1 YR 125 x 10~ kg G491 A,B,
¥ 10 T F R 300x10 3 kg F1 A
HIeR Z=4HM (M) 791 B %1 HIoR 55991 (My)
(kg mol ! #) B :

Options:

; My=5x10"3 0 Mz =10x10"3

, M, =10x10"3 T My=5x10"3

5 My=25X10"7 921 My =50 %103

4 M, =50x10"3 T Mp=25x10"2

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AB, -l 5 g dsv+ 125%x 10 ? kg 214
10 Hld AB, 4 4ol 300x10 kg 6. A
ez 50 (M,) =id B « ¥ilaz 0 (M)
(kg mol "1 i) Q*l-iki‘{ :

Options:

, My=5x10"3 211 My=10x10"3

, My=10x10"3 2 Mp=5x10"3

M, =25x10"3 244 My=50%10"3
2

4 M,=50x10"3 s My=25x10"3

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

An element has a face-centred cubic (fec)
structure witha cell edge of a. The distance
between the centres of two nearest
tetrahedral voids in the latbce is :

Options:

s @ i
: collegedunias



Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e el 1 Bl as = (TREET ) FEEA
& o ¥ 1 %R a 81 dfen § 91 fpean
Iqukersd RiFad # w51 % =49 =1 g
I

Options:
e

Lo
b |

4. V2a

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

05 Al 5 o/ 565 Smgld Bt 1L (foc) HUReL .
dedl s 4R a 8. 21 2sus el Al
Agrsas [Bolrl S ozl 2idz 247

Options:
i

Al
S

:
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Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The electrons are more likely to be found :

b (x)
a
L S| b T —»
- _I % _\ ./f'-'-
\"\-\.\__ --._‘_.-"
C

Options:
1 only in the region a

5 in the region a and b

= only in the region c

in the region a and ¢

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Tl F 9 A HI SARE 9ET

b (x)
a
~ ‘“\\
-.»"/ b .| b X —»
—x |- i
N
C
Options:
| AHa#AH

5 aTdlb & ¥

5 WHC o9 H

4 aTdic @A H

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl Qcollegedunias
No Option Orientation : Vertical 5 Gt Sailo RV Pt



Correct Marks: 4 WrongMarks: 1

delsgi woelHl 8 uscl

1
P (x)
&
e
_f/ L x—»
——x = =
N
\_____f"
C
Options:
85 a (Gl

1

5 a2 b [yl
5 55 ¢ [erarul

4 a e [zl

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Enthalpy of sublimation of iodine is
24 cal g~ 1at 200 °C. If specific heat of 1,(s)
and L,(vap) are0.055and 0.031 cal g~ 'K !
respectively, then enthalpy of sublimation
of iodine at 250 °Cincal g !is:

Options:

1 228

o 114

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

200 °C W, HAEEM FT FHeAumad e
24calg 1 %1 AR L,(s) TN L,(vap) Fi fafere
FRE FE: 0,055 741 0,031 cal g~ 1K1 &
Tl 250 °C T M 1 S Teed
(calg™! ) 2

:
Qcollegedunlag
India’s largest Student Review Platform



Options:
, 228

5 114

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

200 °C = 2Ailonl GledwanAl 2A-2uedl
24calg 1 8. o Iy(s) @i I(vap) -l [QRre
Gl 24454 0.055 24 0.031 cal g~ 1K1 €l
dl, 250 °C = 20l Gleshuad @il
(calg Lyi) %edl 7

Options:
, 228

o 114

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

An ideal gas is allowed to expand from
1 L to 10 L against a constant external
pressure of 1 bar. The work done in k] is :

Options:
; —09

5 =20

+10.0

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl gcollegeduniaé
No Option Orientation : Vertical T s e stuen i o



Correct Marks: 4 WrongMarks: 1

UF ARY T FI e @@ 2 1 9n F fawg
1L ¥ 10 L 7% wonfid 24 faan s 21 fafen
T (k] H) #

Options:

, —09

= = 2{]

+10.0

4 —90

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

25 GR N UEL EAUSL 2is el qpd 1L
2%l 10 L yell Fackel szeusl 2ud &, 23y 51
(KJ wi) gliel

Options:

; —09

5 —20

+10.0

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The mole fraction of a solvent in aqueous
solution of a solute is 0.8. The molality
(inmol kg~ 1) of the aqueous solution is :

Options:
, 13.88

> 13.88x10 !

[

5 13.88x10

w

4 13.88 x 10
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Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

T faem & 9od faaa ¥ faams #1914
oo faeaga &1 gided
(mol kg L) 2t -

9 0.8 B

Options:
, 1388

> 13.88x10 !

[ ]

5 13.88x10

i 13.88 107

Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

wis gleddl srelld gl alesL Hld »i3 0.8
9. oedld gl ezl (mol kgt b)

sedl?
Options:
, 1388

» 13.88x107!

(]

- 13.88 10

J 13.88 x 103

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
What is the molar solubility of Al{OH), in
0.2 M NaOH solution ? Given that,
solubility product of A(OH), =2.4x10"2;

Options:

= 3% 10 19

5 12x107 2
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21
4 12x10

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

0.2 M NaOH fae@a H# Al(OH), =1 Her
foreraran =)0 BPM 7 fean 0 ¥ ¢ ALOH), =1
Toreraan feewie 24 x 10~ 2

Options:

1 3x10 =

Sl
5 12x107 2

21
4 12X10

Question Number : 57 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
0.2M NaOH gleel AOH), -l {ld2 glexel
sedl 7
(AIOH),rl gledll 2RUsik 2.4 X 10~ 24)

Options:
1 3x10 2z

5 3x10”19
5 12x10° 2

21
4 12X10

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Given :

Co®t+e” = Co**;F°P=+181V

Pb?* +2e~ — Pb2*; E°= +167V

Cel*t +e~ = Ce**:FP=+161V

Bi** +3e~ — Bi; E°=+020V

Oxidizing power of the species will increase

in the order : )
_ collegedunias
Options: Indi's argest Sudent Review Platform



1 CGSP ‘:CE‘;:' __.:BiS" {Phai:-
5 Co®t <Pbt* <Ce?t < B
= BiH.ﬁ {Ceai:- ‘CP}:!‘;'L {COB:-

4 Cett <Pbi+ <Bi3+ <Co?

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

fem e

Cot +e” = Co?H; EP=+181V

Ph4t +2e~ — Pb2+;E°= +1.67V
Celt +e~ = Ce*t;EP=+161V

Bi** +3e” — Bi;E°=+0.20V

TSI F S9EEE el 59 69 H el
Options:

1. Co?* < Cett < B+ < PB*

5 Co?* <Pbt* <Cett <Bi®*
= BiHs {Ce-i:- f-Ph‘;'L ‘f-CDB:'

4 Cet* <Pb#* <Bid+ <Co3

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

U

Co’t +e” - Co?H; EP=+181V

Pbd+ +2e~ — P2+, FP=+167V

Cett +e~ — Ce*+; FP=+161V

Bi’* +3e” — Bi; E°=+0.20V

2 flallos Al 2isl221A 5eil 2Wlscirl Azl 53 204l
Options:

1. Co?t < Cet t < B9h < PPAY

> CoP* <Pptt <Cett <BiH
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5 Bi't <Cett <Pt <o’

4 Cett <Pbt+ <Bi3+ <Cod*

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In the following reaction; xA — yB

logqg [— d[AI} = logqg [ LiLEESI] + 03010

dt

‘A" and ‘B’ respectively can be :

Options:
;. CH,and C.H,

5 n-Butane and Iso-butane

. CH, and C,H,

, N;0,and NO,

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

=1 sAfaferan 3, xA — yB

s B
logqg [— Ll“'] = logqyg { Llliitl-| + 0.3010

dt L
‘A’ 91 ‘B’ FEY: B 9§
Options:

1 CEHZ adl CE}HE

5 n-SA TY1 AGHHA
- G,H, 71 C,H,

2

, N,0, 741 NO,

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Al il wlis
xA —ybB

| 1[;«.]} [ d[lﬁ]] .
logqn | = S = log + 03010
a10 ’V dt 510 i

A W B s 3 6

Options:
. GH, ¥ CH,

£ S
5 1o il 20

. GH, ¥ CH,

N,O, @ NO,
4. - =

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Peptization is a :

Options:

process of converting a colloidal
solution into precipitate

process of converting precipitate into
5 colloidal solution

process of converting soluble
particles to form colloidal solution

process of bringing colloidal
molecule into solution

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
mﬁmﬂ%:
Options:

Fiesel aeraq #1999 9 F5e+ F
1. APH
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FIYT F1 T faag7 F Fee1

2.!

faera Fuil =1 Hiensel faema § s

g 1A

" FHIEASEN AVH] i A9 J T 1 964

Question Number : 60 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Y2 g 2

Options:

1.

e 5ol slddl glaeml 3uiar swaul

5 B

sladl 29 el cseudl ulsu

Section Id :
Section Number :
Section type:

s{Adl aletom 2t 34ieR s2ei-HL i

e gie (Al graeml iR szeudl ik

Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:
Group All Questions:

Sub-Section Number:

Sub-Section 1d:

Question Shuffling Allowed :

Mathematics

416529327
3

Online
Mandatory
30

30

120

Yes

No

1
416529467
Yes

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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For x e (0, -f}é},let f(x) = Vx, g(x)=tanx

1-—x2
and h(x) = 5 - 1f $(x)=((hof)og)(x),

1+x

then cb{%} is equal to:

L

Options:
T
;12
S1r
lan—
5 12
Vi
tlan
g 12
11ar
kT
4, 1

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

xe(0, %) F faw wmr fx)=x,

g(x)=tanx TIT h(x)= :1 5 afs

$(x)=((hof)og) (x), T ¢ f %

Options:
e,
i 12
5
lan—-
5 12
71
lan
2 12
111
lan B
4,

Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl gcollegedunla
No Option Orientation : Vertical eview Platorm



Correct Marks: 4 WrongMarks: 1
xe (0, 3)we, wa 3

.f{x] = Jx,

1 — 3+ 2
—_— Gl

)=t wd  h(x) = -
B(x) = tanx ( 1+ x°

0= (oo, L 6T wewn
8.
Options:
12
S5
lan——
o 12
7T
lan—
= 12

4,
Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
If « and B are the roots of the equation

3?5 12—25x —2=(), then

““. ‘> B is equal to :

llm L 0
=1

Options:
7

, 116

ai
&

21
i i : i gcollegeduniag

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl

No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

IqfE FHEFIW 375 12 — 25x —2=0 % Hel o AL
. H_ ﬂ_
a + lim llﬂr W%:

BE @ lim >
ol 5% | ol = |
Options:
o)
1 116

29

35

oo

3

4.
Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

od o A B L arllszel 375 x2 - 25y —2=0 -l
. n‘ l'l1
1 Y a4 lim Y BT e

n—so
=l

oflsy €1, dl r{m
it |

:
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No Option Orientation : Vertical
; 2

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
Correct Marks: 4 WrongMarks: 1

The equation [z—i|=|z—1|, i=+v-1,

repr esenls :



Options:

;@ circle of radius 1.

a circle of radius %

the line through the origin with
slope — 1.

the line through the origin with
slope 1.

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

THE |z —1| =z - 1], .I'=1J'r_1, L
fepaent Fefi et &7

Options:

1 = 1 =1 U= 91|

f‘sﬁmlwwaﬁt
2| 2

Hefag ¥ e W arelt war fade
. B 13

Heafas | BT 9H aren E faae
4 BEA1EI

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
allszet |z —i|=|z— 1), i=v—1
E2llE .

Options:

1 Blseaue 516 2is ada

o

r

1.

Fsedisuy] 516 #is ada

b | =
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Gerleiguizll wair 2d »i4 -1 aedl
5 Ml

Glrlognizl war adl w4 1 aasued
4 0l

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

h Za 1
FB=(0 2 1 |istheinverseofa3x3
o 3 1

maltrix A, then the sum of all values of «
for which det (A)+1=0, is:

Options:
1 2

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

7S T 3 x 3 F A= A F1 FoRA (inverse)

5 2a 1

B=(0 2 1|% dla® 949 96 51
a 3 1

4, fomeh fudet (A) +1=0%,

Options:

1. 2

o 1

=z 0

4 1
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Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
518 25 3x3 #Hlots A Al cdrd of

B 200 1
B=|0 2 1 |¢ d(A)+T1=020xddl

o 3 1

a Al duet (BudiHl Jraol 8.

Options:

1. 2

> 1

=z 0

4 =

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If A is a symmetric matrix and B is a skew-
symmetrix matrix such that

I
A A B:[T 'J,LhenABisequaI to:

5

Options:
=4 2
1 4
i ™
T4 —2]
i 4
5 L ]

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 .
% collegedunias



9fe T FAMAT (symmetric) 38 A 791 TH
famq ¥AfAT (skew-symmetrix ) #T=4E B 50
JHH E f

5 87 u
A+ B= : ],?IIABHITEI'{%:
1

Options:

4 2]
1 4

1.

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

sl A 2L 1[id &Gl cld 2 B 2t [l sl

& = - 2 ; ﬂ

61 5 ol A4 B= [; 3 ] A, dl AB
5 —1

SEI ) 8.

Options:

i

:
gcollegedunlas
India’s largest Student Review Platform



Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The number of ways of choosing 10 objects
out of 31 objects of which 10 are identical
and the remaining 21 are distinct, is :

Options:

1 221-] —1
20

2. 2

g 2R3
21

4. 2

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

31 =g, T8 10 T9%9 (identical) & Tem
21 fom 2, § | 10 =53l F 99 9 F Tl
= WS

Options:

p 2201

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
od 31 a2l 10 #3834 € 21 cusl-l 21
gl (Bt € oll 24 31 cee@imizll 10 sl
s2el 2 yaiE 571 1)

Options:
2201

1.
Qcollegeduniag



22‘[’1 +1

21
4. 2

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The coefficient of x!® in the product

(1+x)(1— x}“]{l + 1+ ,1'3]9 ig :
Options:
1 84

> 126

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A% (1+2)(1—2) 01 +x+22)7 H 218 =
W% :

Options:

1, 84

5 126

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
(1+2)(1 =201 +x+237 Al [EcreEi 18
Al HEARLS 6.

Options:
1, 84
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2
> —126
5 —84

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let 5" denote the sum of the first n terms of
an AP. If 5_4= 16 and 5ﬂ= — 48, then Sm is

equal to :
Options:
1 — 260
5 = 320
3 —380
i — 410

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
HAIS,, U FHIRE 481 F 99Hn TaI % A0
quiar 1 afgS, =16 AMS, = ~48 7, WS,

T
Options:

, —260
5 —320
3 —380
4 — 410

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

slguls wiier 2ol (AP) AL M™Y. n uElHL
ML ARE S, 6. 9d S, =16 ¥ S = —48,
dAlS,, “rer B,

Options: Qcollegeduniag



| =260

5 —320
=3 —380
i —410

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

For x € R, let [x] denote the greatest integer
= 1, then the sum of the series

1 1 1 1 2 1 99
— _|.. e R, + N | gt gt S _I_ ..... + g - iy
317 3 100 3100 3 100

is:
Options:
1 135
5 = 153
= 131
e 133

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
ve R F A 51 [x], x & 999 o I59 FH

T 1 1 1 1 2 1 99
— 2 _|_ e . e {_ . _I._I S, S 11 T
3171 3 100 3 100 3100

=1 I % :
Options:
, —135
2 = 153
3 131
e 133
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Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

xeR e, 4l 5 [x] 2 x 2l Al =y A
Ml e Yelisial el w2l yeds said, dl

2al

I % 1 1 1 2 1
] B el ' e S o b
30| 3 100 3 100 3 100

Al ML 8,
Options:
, —135
= 153
3 131
e 133

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Let f: R — R be a continuously
differentiable function such that f{2) =6 and

@)= 1 [Pafa- - 250,

then im}ﬂ_g{ﬂ is equal to :
Options:

1 12

> 18

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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HE f: R = R TF Hddd: AgG&oAid
(continuously differentiable) ™&q 4 THIT

T & f2)=6 @ .f'(2}=%- 7fg

E{I}éijdt=(x 2)g(x), M 1M BX) TR

g:

Options:
1 12

> 18

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
RL S5 f: R — R [Csady (B84 & 21 de
([4s@d #dd [Q8y & qu f(2)=6 -

£1(2) = 41_3 Bt E""‘m-’*dt = (x — 2g(x)

dl iiﬁ‘é 8(x) eRioR £,

Options:
1 12

> 18

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

d’y |
=

If e+ xy=e, the ordered pair [d_y
dr  dx” )

at x=01is equal to:

Options:

:
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Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

gfg e¥ +xy=e, @ x=0 9% &HfHT 474

dy d%y |

{i, S| e E
L dx dx®
Options:

[ 1 1‘|
1" DFEEJ
(1 1‘|
o S
[l e

= 46 e®)
[ 1 L]
4 e’ ezx

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
sl eV +xy=e, dl x=0 21 5HY5cl 55

2
2 A H} OO 5.
dx  dx” )

Options: Qcollegeduniag
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Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

A 2 m ladder leans against a vertical wall.
If the top of the ladder begins to slide down
the wall at the rate 25 cm/ sec., then the rate
(in cm/sec.) at which the bottom of the
ladder slides away from the wall on the
horizontal ground when the top of the
ladder is 1 m above the ground is :

Options:
25

=
w

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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<] Hiet ot U Hiel U SEiHR Sian & 191y
Eﬁﬁ?%t afs =gl = T 25 cm /sec. T
o H @R % 99 A4 F AR e e
FAA1 &, T 98 =X (cm/ sec H), om0 T Hiel #1
e, Sfae YA W, AR ¥ 37 R € 54
el =1 fomat 9uae 9 1 Hiet &1 349E W,
X

Options:
25
1, 3

2
.

B

4 253

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
245 2 m dlefl [Rarell Brida Ead 2sdl 5. o
ol (Aol 22 25 3ol /A A g8 eusell
Al zsee 23 57, dl 20 Farelldl 2l s
serllel 1l Glug i o 2 [Auzel-l =il
961 wlEldsy ol un [zl g2 seal 52
(sl /D) w35 87
Options:

25
L 3

2
> VB

4 253

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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If m is the minimum value of k for which
the function f(x) = xvkx 2 is

increasing in the interval [0, 3] and M is the
maximum value of fin [0, 3] when k=m,
then the ordered pair (m, M) is equal to :

Options:
, 4,32)
5 (5, 346)
2 (4, 33)
, (3,33)

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Ifs k 1 =99 "1, fags v w=

..f(’-'} — xky - 2 AU [0, 3] H aHEA T,

m ¥ 41 [0, 3] # £ 2AFaH 94 99 k=m

& M2, df %49 T9 (m, M) 9= 2 ;

Options:
. (4, 342)
5 (5, 346)
2 (4, 3J3)
, (3,33)

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

BEY f(x) = xvka — x? #RIA[0,3] Hisag

€l o 1Al k Al ~4rtdm Bud sd mo €1 a2

sedld k=m Sl 42 £l 2icRid [0, 3] i qerid

Bud M @, dl s445d sds (m, M) oo
8.

Options:

:
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. (4, 342)

5 (5, 3./6)
= [4:, 3\-’@]
J (3, 3./3)

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
3

The integral x—l dx is equal to :
oy

(Here C is a constant of integration)

Op'gions:
41
log, = o,
1
2
|:..1'3 1)
loge | _3| O
Z. *
3
g, x : 1l
3 x
|
—log. = +C
2 T x
4,

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

..x3 1
TEA | gy AR
.Yd - x

(Tl C AR 39 2)
Op'gions:
3
¥» +1
lo +C
Be—
1.
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—log. O
> 3
Z. |'1 |
2
g, x : 1l
3 %
i
llﬂgﬁ |J : 1| +C
2 x
4,

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

3
: 2x% —1 2
Aslda J‘Z—d:r oA 5.
x +x

(24l C = disandl wmis )

Op'gions:
3
2 +1
log. = o
1
2
1 (x® + 1)
—log FC
2 7%
2
3
log, x . 1,
3, X
2
llﬂgH |J ,} l| +C
2 x
4,

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

il
i olx
If -E L i dx = m(w + n), then
COLXx

F cosecx
m - nisequal to:
Options:
i; 1

:
Qcollegedunlag
India’s largest Student Review Platform



I'NJ||—-L.

K | i

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

i
2 colx
gfg
colx + cosecx

m'niﬂﬁﬂ%:
Options:
1 1
2 =
2
5 2
1
4 2

dx =m(w +n)

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

s |
cotx

m - n A2l
Options:
1 1
2 =
g
z 2
1
5
4. e

0

cotx

b Cosecy

-

dr =m(w +n), «l

:
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Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

If the area (in sq. units) of the region
{(x. v) : y* = 4x, x+y=1, x=0, y=0} is
.aﬁ + b, thena—bis equal to :

Options:

e
| ka3

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

pICEAE
|{x,y}:y25 dx, x+y=1,x=0,y=0} =
S5The (a7 sFEdl H) a2 + b B, dla—b
Eﬂfﬁﬂ%’:
Options:
8

;. 3

i
L3 | ka

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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ol ME2L
{(x, y): y‘z = dx, x+y=1,x=20, y=0} j
glaso (2AL2AsHH) a2 +b ¢, dla—b

-

HUHR &.

Options:
8

3

i
3| k2

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Consider the differential equation,

1 b
ydx (I —de' =0. Ifvalueofyis 1
\ y
when xy=1, then the value of x for which
y=21is:
Optlions:

ba | L2
E

b e

|
&=

o
3 2 e
LR
4 ” ve

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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AaH FHIF iy dx | [1‘ l}dy=ﬂ w
L

foam #ifeu| afg x=1Ty FMAT1E, Tx

1 9, foms fg y=2%, 2 :

Optlions:
Y =
] e
)

], -
P 3

> 2 e
& 1

s 2 Ve

L
-

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Fisa wuslszel  y2de }[x _de:ﬂ

(CeuRl. st x=1 ¢l i y Al B sd 1 €11
dl y=2 4l x Al B _ 5.

Opt_ions:

2 e
1, 2

| 1
> 2 e
9
3 2 e

k| =
ol

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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The equation y =sinx sin(x + 2) — sin?(x + 1)
represents a straight line lying in :
Options:

1 first, second and fourth quadrants

4 second and third quadrants only
5 third and fourth quadrants only

4 lirst, third and fourth quadrants

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

THFHT y=sinx sin(x +2) —sin*(x+1) TH
e T = frefua e 8, o fem 2
Options:

| T, TH T A =gt 7

5 A THL T 9L Iq419 H |

5 T T q Y Fqh

s Teed, TE 997 =59 Jgaie 5

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
H{{l528L y =sinx sin(x +2) —sin?(x +1) =il
oig 2ol Bl B & o

Options:

; yddl, olsd 2 2z 2zeml 2uddl .

, 8 oflsg 2 Slloa =ML 2uddl .
5 Boel Alod @i AL 2Rl sl 9.

o uddl, sllsa 2 e 2ol 2uedl 8.
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Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If the angle of intersection at a point where
the two circles with radii 5 cm and 12 cm
intersect is 90°, then the length (in cm) of
their common chord is :

Options:
120
1. 13
13
o 2
60
5 13
B
4 O

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Ife uF fawg, R 5 cm 4112 cm =1 F 21
99 U gHI Tl HEd &, W Yfaegad H990°
%.ﬁ[ﬂﬂﬁftmﬁlﬁﬁfﬁﬁm(cmﬁ:}%:

Options:
120
1. 13
13
> 2
60
5 13
B
4 O

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
Qcollegeduniag



5 cm 2 12 em Bt o tlg}rtﬁ.'l &% d
(615 =1L BESL9L oA 90° S, dll Al M

sgeqidl detld (em i) &,
Options:
120
1. 13
13
o 2
0
5 13
13
4 O

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If the normal to the ellipse 3x% + 4> =12 at
a point P on it is parallel to the line,
2x +y =4 and the tangent to the ellipse at P
passes through Q(4, 4) then PQ is equal to:

Options:
5\5
. 2
J157
5 2
Jol
3 2

221
i 2

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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gfg g9 32+ 4y2=12 % & fa5 P
AT, T 20+ y=4 F TR € AP W
Srefere 1 99 W Q(4, 4) W B el B, &

PQ 9= % :
Options:
5\5
1. 2
157
5 2
J61
2R
221
4 2

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
sl GuaEd 322+ 42=12 -l [ P 2wl
wfGidor, Tull 2r +y=4 - ¥MHid2 €4 2 P
ARIOAL 24 Bl 2925 Q(4, 4) izl waR

Aell &, dl PQ “rieir _ 8.
Options:
5\5
1. 2
157
5 2
Je1
3 2
221
4 2

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Let P be the point of intersection of the
common tangents to the parabola *=12x
and the hyperbola 822 — y>=8. IfSand S'
denote the foci of the hyperbola where S
lies on the positive x-axis then P divides S5'
in a ratio :

Options:

L 14:13

5 13:11

5od

3]
—

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AT WFad y?=12x 991 Afaa«
822 — 12 = 8 i IHATTS TIY] Wi ol Widwsa
fag P 1 afes aurs Afaw=em F1 =i 2,
WEl S HATHS x-A" W fud 2, d9 P, S5
=t & 4 forg st | faenfsm Fwan 22
Options:

L 14 :13

5 13:11

&4

3
—

Question Number : 81 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

QL5 P ool wread y?=12r wd 2ildaay
8x2 — 2 =8 AL Pl ¥u2lsl e[t ©. S
2l S' 2L 2l At gid, sl S
X- BE W UEE S, dL P 9SS o

el [FEeuse 53 .

Options: )
collegedunias



14 :13

]..

5 13:11

g ok
233

4

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
x—2 y+1 =z
2

If the line intersects the

plane 2x+3y—z+13=0 at a point P’ and
the plane 3x+y+4z=16 at a point Q, then
PQ is equal to :

Options:

J14

.

211

2.

5 14

o5

4.

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

= E 2 ik
afe I lﬂ;":y:l;]: 11, qHAA

2x+ 3y —z+ 13 =0 91 fag P R Fedt & ae
THAA 3x + y + 4z = 16 Fl fag Q W Freddl E,
ﬁTPQHT[ﬂI%:

Options:

L

214

2.

5 14
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4.

Question Number : 82 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
x—2 y+1l z—1
3 2 1

sl vl HHAd

2x+3y—z+13=0 « P [€g »win 88 24
HHdd Bx +y+42z=16 A Q [lg w1 62, dl
PQ “z1o2 5.

Options:
14

1

21

2.

5 14

-

4.

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If the volume of parallelopiped formed by

Fas "4Y

the vectors i +Aj + k, j+ Ak and
h.:' | kﬁmim’n‘;mn, then A is equal to :
Options:

1
B

1.

3 *-E
1

= ﬁ

4. ﬁ

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Sing| Qcﬁ?”egeﬂuni?%
No Option Orientation : Vertical gy ermesmtm



Correct Marks: 4 WrongMarks: 1

AT § + Nj + k, j + Nk TING + k
G AT T THIR 9% (parallelopiped)
1 SFETH 99 8, o A T 2

Options:

1
B

1.

2 —\3
1

= ﬁ

-

Question Number : 83 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

lEell 7+ Aj + k, j o+ Ak NG+ koAl
vl HHIAREAS HAsN oA YAt €, dl A
GfR1e4R )

Options:

1
B

1.

2 —\3
1

= ﬁ

-

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Let a =31 +2j +2k and

— K A

b=1+2j 2?( be two vectors. If a
vector perpendicular to both the vectors

-

- - —
a+ band 3 b has the magnitude 12
then one such vector is :

Options:

1 4(_2? | 2} } k}

5 4‘2; rz}: k)

_ 4l2i -2j 7

i 4( 2i —2j 4 ﬂ

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AT a=3i +2j+2k qa
b =i +2] — 2k Srufan ¥ afz 3 atei
a i b T a_ b ¥ orEEd T GEw
Ui 12 8, o U U e §

Options:
. al2i 425 + %)
_al2ia2f- )
. .4(2}" 2 - k)
. -4( 27 —27 + &)

No Option Orientation : Vertical

Question Number : 84 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Singl
Qcollegeduniag
Correct Marks: 4 Wrong Marks: 1 T s arsest Sdon i o



3

a3 a =3i +2j +2k -

—3 Py P A o i
b=i+2j 2k slAuELS. =
._:’ =2 i ._'. == i e " & g 4
a+ b 2l 3 - b “l ullA du S
dedl 516 EIAL WA 12 Sl dl 2l 58 218
ulEzl 21y,

Options:

1 4(_2? | 2} } k}

5 4‘2; rz}: k)

2
=

. al2i

i 4( 2i —2j 4 ﬂ

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let a random variable X have a binomial
distribution with mean 8 and variance 4.

k

&7 then k is equal to :
2

Fpx=2)=

Options:
1. 1

Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A U daf=s 9 X & 598 924 F1 211 8

T T4 E | ?Iﬁ-P(}(E 2) = %%J Ak
2

AL _
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Question Number : 85 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
aiEl ¥ 519 wERos ad X A usl Bage

k
~16

Hes 8 ot [Qare14 5. od pX = 2) =

b ]

dl k 21042 5.

Options:
1. 1

5 17

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If three of the six vertices of a regular
hexagon are chosen at random, then the
probability that the triangle formed with
these chosen vertices is equilateral is :

Options:
L
1 10
:
2 5
3
= 10
'3

4 20 Qcollegeduniag



Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Is U FEfHd 9=ye & 9 W H F
Arefeos =9 & 2, o 59 94 T 3iht g A

Y9 F guag 219 1 qifawal ¢
Options:
1
1 10
1
o O
3
= 10
'3
4 20

Question Number : 86 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

$18 wis [Hufad wesier o Brilbg=a 8 e
[BRUGE2AL ot 2z s dd wis szl 2ud, dl
ol WiE 52 RRiGgoEl 2audl Bistel, dueusy

Gl ddl deus 8.
Options:
1
1 10
1
2 9
3
5 1D
'3
4 20

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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If the data xy, x5, ..., Xy is such that the
mean of first four of these is 11, the mean
of the remaining six is 16 and the sum of
squares of all of these is 2,000 ; then the
standard deviation of this data is :

Options:
4

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A TS 2y, Xy, ..., Xpp T TFR S o 370 H
T =R A1 11 2, 96 B: FA 16 €
A1 59 W T 1 AM2,000 7, A 59 SAFE
1 HHF fo=em @ :

Options:

4

Question Number : 87 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

o 518 Wdl xp, x5, o xyg AL UAH AR

oAl AL o5 11 Sl 2l elslL o -l Heus

16 S1 2 2L M 2l AlAL “RUAL 2z

2,000 €l dl 2 wlédd i (Gan
.

Options:
1 4
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Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The number of solutions of the equation

5w 5
1+sinfr=cos?3x, X € { RN is :

Options:
1 r

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
HHEFRI 1 + sinty = cos? 3x,

50 Bm | . s gn v ;
Xe|— o, | % & w HEATE :
Options:

1 '

Question Number : 88 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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5T B
Hﬁ&%‘-&"l 1+sin*r =cos?3x,x € { =y T}
Al G5alAl 2iva £5.

Options:

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

‘19 -
The value of 5i11_1[1—”1 sin_r[i] is
13) 2

equal to :
Options:

v _1[ 9}

— — cos | —
P 2 .65 )

T %m_l[ﬁ—ﬁw
B 65,

(33

T — COS —|
=3 xﬁ5x'

P . _1(55'1
4 2 \.E}5J

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

i -1 3)
sin I[EJ sin II—JHETHFI%:
L 13 5

h,

Options:

11 _1[ 9}
— — cos | —
2 .65 )
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2.
T — COS
=
i1 -
— — &in I[
44
4.

Question Number : 89 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

sin” ! (9 Al Bud

Fy

. —1{ 12
51N —
5
8.
Options:
v _1[ 9
i cOs i
2 65
..
7 — sin
2.
11 cos
=
= ain_I[
2
4.

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

If the truth walue of the statement
.p — (~q v 1) is false(F), then the truth

values of the statements p, q, r are
respectively :

Options:

y LTF

o, BBE
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o BT

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A FIT p — (~q v 1) T HA T STHA(F)
%,ﬁmp,q,rﬁwm: €
Options:

, LTF

o TiBE
o EHF

s BET

Question Number : 90 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

o Bt p = (~q v 1) 4 uculdl yeu
ey (F) €, dl Badl p, g oAl dedsia
Yl sy 8,

Options:

, LTF

> T,FT
- T,EF

s BET
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